g 8 A A

CEPY SN BABID
SAoAS MHIA Sy
Negaos Jjgrsd (Gt H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
30,293,860 25,767,501 4,526,359
= 1,076,917
= 506,870
Jl 5,274,19%6
== 3,417,067
Al 20,018,810
SAHE L 10,158,833 8,354,720 1,804,113
= 178,194
== 74,747
Al 9,905,892
SAAS MHIA gt 2,912,131 1,323,737 1,588,394
= 178,194
= 64,747
Al 2,669,190
NHgHe/g J| = 2,022,419 510,403 1,512,016
= 124,000
< 31,000
Al 1,867,419
ARl 2tel 461,846 427,723 34,123
201 2 401,846 394,723 7,123
01 At2te 205,324 208,252 N2,928
Lot 26,130
oM&Ed 5,000,000& 22 10,000
oM3E AdE FJI 88 =8
3,500,000& *23] 7,000
o&EAL 3t =2 7¢
500, 00021 128 A 6,000
oM BYH =S 7
21,3003 1002 A 2,130
oFA A =8
1,000,0002 %12 1,000
Oo=2g= 18,210
oA 60,0003 =12 *121 7,260
o THEA
30,0003+ 1 *365& 10,950
Oo2elE9y 160,984
oHA sl
10,842,000& «12& 130,104
oFA
800,000 * 12 9,600
oFA IOl SXt=
36,0002 «20CH* 122 8,640
oFA
500,000& * 122 6,000




A= 224 SA  2AMF D
3 2AOZAMHIA gty
chelr g9z Jgtxy EER=E)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 %E% BlunsZ
oEA &I FAES
270,000 122 3,240
cRIAA == |2
200,000& * 122 2,400
SHA A5 - ¥ Y|
200,000 52 1,000
2 =523l 196,522 186,471 10,051
O8&82= € HA 120,686
oHAL g 8,500,000 122 102,000
oFA & - ot=E&
1,000,000& * 12 12,000
oNSit Eg8a 1,300, 0002 *4CH 5,200
cuUSHRLFES T
1,200,000 14| 1,200
o XSt HIIBAE 200,000+ 14| 200
oAOtM F3lH 86,000& 14! 86
O¢ZH| 12,720
oFA 2 2] HZH]
1,060,000~ 12 12,720
OAIZ EHIS XY 43,316
oHAL HE R
10,000,000 %14 10,000
oFAL Y - AIE R - =44
10,000,000 %14 10,000
oHA £ 2 2,500,000& 23] 5,000
oFAL &II - JIAHIEHl |AI - =&
6,000,000& 14! 6,000
oEAUSH SU ZHl |l - 2+
7,000,000 14| 7,000
ocaUAE B2+
3,000,000 14 3,000
o¥3E 2k =il
1,500,000 14! 1,500
oREYS AIEE 67,9802« 122 816
OXt& = All 19,800
cAEXNE RFU
200,000 *3CH* 123 7,200
oS FHIRA ¥ ARE 7Y
4,000,000 *3CH 12,000
cZEXE NEER SHIE P
50,0002 120H 600
401 AIEHIL 20| 60,000 33,000 27,000
01 Al&HI 60,000 33,000 27,000
OAlI&H| 60,000
oA LSAIE FHl SAt
30,000,000 *14] 30,000




A= B4 SN - 2AMY Y
M 2ASZ NHIA Sy
2ol Ng2Aezs Jgtxd (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
oA THEHXI S At
30,000,000 * 14| 30,000
2oL RUHAE =4 1,277,325 1,277,325
401 AlZHIL 2 CHY] 1,277,325 1,277,325
01 AlZHI 1,277,325 1,277,325
O RPUHAME(FXE) EXHLY
1,250,000,000& * 14! 1,250,000
O224 RUHAE(FRE) s2dfE3
50,0002 *1,003m" *50% 27,325
24 FLHAE 29 49,068 0 49,068
101 el 40,368 40,368
M IRINZZ2 RS2+ 40,368 40,368
OxcIAt D122 96,8002 *1H+230& 22,264
O2x015 Jigs
12, 1002 * 1 *3A| 2H230 8,349
OFFAX =& 96,8002 x 1 x57 5,518
O4EEE MEERES
3,387,000& x14 3,387
OFUAE SA 1=
200,000 x2 =2 800
OZX2IAt W] 50,0002 *12] 50
201 Ler2aY| 1,200 1,200
01 At 2teltl 1,200 1,200
OTFUAY 4288 7Y
300,000 *43] 1,200
401 AlZHIL 2 CHY] 1,000 1,000
01 AlZHI 1,000 1,000
OFUAY X2INE RNES
1,000,000 14} 1,000
405 RhakF S| 6,500 6,500
01 L =S F S 6,500 6,500
O=zUag x2DD| 72
1,000,000 18] 1,000
OFUANY SA=SXH2D] FE
5,500,000 1CH 5,500
SAHINHIA 25 10,200 25,200 A15,000
201 LetEaH| 3,000 18,000 A15,000
R =234l 3,000 3,000 0
OXEA I 223 RE3
3,000,000& 14 3,000
208 BF =2l 7,200 7,200
03 A=Y R =AY 7,200 7,200
OAHHA2FT(LH)
4,800,000 14| 4,800




A= 224 SA  2AMF D
3 2AOZAMHIA gty
chelr g9z Jgtxy EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
OFHHE AIMPR=A
2,400,000 14 2,400
el A=2XH W3 37,980 37,980
201 ZBt=Ehl 31,500 31,500
01 AlR2telH] 31,500 31,500
O2E2XI¥ | 450,000& 702 31,500
307 el2+old 6,480 6,480
0122 & 2=H| 6,480 6,480
OHAIE Sa94s & 425
540,000 122 6,480
SHEZAL S 0|HASAY 186,000 19,500 166,500
= 124,000
< 31,000
Al 31,000
405 RhakF S| 186,000 19,500 166,500
= 124,000
< 31,000
Al 31,000
01 MM =S FSHI 186,000 19,500 166,500
224 o 2FH 7Y 136,260
o N SatE A A 100,000,000 *1CH 100,000
= 66,667
< 16,667
Al 16,666
ogstEMA FAIEH
36,260,000 1CH 36,260
= 24,173
< 6,043
Al 6,044
OF2ASE2HN 2 gdHl 7L 23,034
osHd=sdI ,517,0002 +2CH 17,034
fas 11,356
< 2,839
Al 2,839
&g 3 2,000,000 *3CH 6,000
fas 4,000
< 1,000
Al 1,000
OF2X 2 o3l 7 4,602
oS A (LA, AtA)
1,800,000 2CH 3,600
z 2,400
< 600
Al 600




|2 MEIA e
BA92 Jgtxy EER=E)
LA B - S9(E) - AISAY - BES of v e HIDE2
oEIE (24
1,002,000 *1CH 1,002
= 668
[ 167
Al 167
o8z 23l 2¢ 22,104
oAl HatE W
1,500,000 9CH 13,500
[ 9,000
= 2,250
Al 2,250
oNSEAAH (G, &)
1,800,000 2CH 3,600
[ 2,400
= 600
Al 600
cABEFI(ES) 5,004,000 1CH 5,004
[ 3,336
= 834
Al 834
AEA o MHIA 889,712 813,334 76,378
[ 54,194
= 33,747
Al 801,771
NEEA o2 AHA 23| 24,670 27,330 N2,660
01 et 3,550 10,050 26,500
01 AtR2t2|HI 3,550 10,050 26,500
OXg2A22 A= AL M
25,0002 1005 2,500
OXNSEAHAZ YRS HH=E
70,000 *15E 12 1,050
202 04l 21,120 17,280 3,840
01 =LHA LI 21,120 17,280 3,840
OXNSEAH HR=N O
20,0003 x22EH*43|x 122 21,120
SEEclA At 53,500 51,300 2,200
201 ger=3| 30,000 28,700 1,300
01 At 2|l 21,000 18,500 2,500
OXGEAMH EE2= HH
2,000,000& *34] 6,000
OBAXA - dEA HAZZ2 I TS|
1,000,000 * 157 2~ 15,000
03 A= SHI 9,000 10,200 1,200
O - Mgih ABL2 8 23|
600,000 * 1504 A 9,000




AR BAL SN BAHFIL
Y PAOZ MHIA gt
el NEEA 22 MblA (CHe) &)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
301 EtE NS 1,500 3,100 21,600
11 dALEEIXIZE S 1,500 3,100 21,600
O - Mg HAJT2 08 H0A 2
Al 100,000 %1504 2 1,500
401 Al HIZ S OHbI 10,000 10,000
01 A28l 10,000 10,000
OAMEEAX A JIsES
10,000,000& * 14! 10,000
405 AHAHE S 12,000 19,500 AT7,500
01 AL =S F=HI 12,000 19,500 7,500
OAEHA 25I| 7Y
7,000,000 *1CH 7,000
OAEE2AX A BIIF 2
5,000,000& 14 5,000
2AXL - B 2Y 452,14 413,260 38,8%4
101 ©1AH| 10,584 13,530 N2,946
M ORNZZ2NSE S 10,584 13,530 A2,946
OBAHRA - MSA LAIASE 1R 10,584
SHLES A3 =2
101,600 x5 » 12 6,09
SOYEE 2BA FELE
101,6003 x5& 2 1,016
SIS 2ASA DEMNEEHE
7,112,000& 2. 7% 193
o2AXA - EA A MEZHY o1
106,400 * 150 A2 3,192
oFAXNA - US4 FAF MEHY 218 1
M2 = 3,192,000 *2. 7% 87
201 et 3| 181,470 179,030 2,440
01 At2t2l] 56,360 56,360 0
Oget=ZH] 16,560
oEHAN A APEE DY
180, 0002 x6IH 2 1,080
oBAXNA A2 3 7Y
40,0003 601 A x 128 2,880
oEAUNA AR2T=EE
20,0002 6 A 12 1,440
CHANBA ARBE Y
100,000 *9H A 900
oBHAZA FAt2tel EF 7
20,0002 %90 A 122 2,160
CBHIAZA MBHRSE
20,0002 9 A+ 123 2,160
oBANA - M2 HAI| YXE
33,0002 x150 A 123 5,940
OfI& =] 3,240
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AR B4 SN AU
MM S2A0RAMHIA B
Chel: T2 Q2 AHIA (49 52)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
14 JIEHE A 189,000 212,400 23,400
CEECRER-EEESHE
1,000,000 %15 122 180,000
OZERAO (=LY
45,00021%22 100 9,000
401 AIEHIZ 2 THH| 28,000 28,000
01 Al&H| 28,000 28,000
OZER2S A B4 2IDYY(TH, LS
) 7,000,000 +4% 28,000
O|RF N FHHT At 108,388 67,684 40,704
z 54,194
= 27,007
Al 27,097
201 LEr2 | 5,200 11,760 16,560
= 2,600
= 1,300
Al 1,300
01 Al 221H| 4,600 11,040 16,440
ORAEX 29 YP=8H L A2F 7
4,600,000 *14! 4,600
= 2,300
= 1,150
Al 1,150
° 2=2Z| 600 720 A120
OEHZ3IPC HIOIE 23
25,0002 <20} * 122 600
z 300
= 150
Al 150
301 LBHEHI 4,800 9,600 A4,800
= 2,400
= 1,200
Al 1,200
14 JIEIE A 4,800 9,600 4,800
ORABE NHOIA &g
200,000 x224* 122 4,800
= 2,400
= 1,200
Al 1,200
307 0120 98,383 46,324 52,064
= 49,194
= 24,597
Al 24,597
01 27 ¥ 3l=y| 98,383 46,324 52,064




od
i’
oF
uJ

SEAF
oo
|2 MHIA

ABIA
9

2
=
ral

(@) (e} (@) (e} () (@) m o (@)
~
- <
n0 J
Klo
E
F=)
S 8 S 8 S S 8 8 S
! @ &l ! & < = S &l
=) o <~ < — — = o <
e
<l
RIS
BIEESS8383II888 2|8 S B8 388 mmwm&mm S 82188 8|188 8|8 8 8 8
D OO OO O ¥ N © OB ~— O|™M ~ Ov|Ww w0 o — O [e6] DN M O ANl MO O IO O] O O | v O O
T IILTE DSBS NS FmwF ¥~ - = N o g|lo - Kl < o
ar
<
=
MWW= WUHI| W3 U= W = W=l W= W=l W=| W= W =
i W < < < <
5| & : 2 : - 78
SR . o5 : : 7E
~ 3 S S
=1 = « W g N n
I+ _ H 5 100
= ol 10 80 ok
B - 3 : ’
m U 30 o S I o
or O iy . A _
= |2 < Al e o 3
oF | D il Al A i =
o) |2 o r OF fau} o <) 0 N}
o E5 of :I 5 s 5 A rh g it 5 5 @
= ol Al 30 T oW 50 W bl 5 ol 30 T o
g0 |m 7l A0 oH SIE 0l KU f a H 04 oA
- | i} x 2 g = 5] = N z & S
. . < ol =z R # o ol A N ol =
(O O Al > =0 ™ O < =0 u < =0
. 7 & < = S - 7 S °
i o by
kU




A= EAL SN 2T
M SAHo g MHIA &4
o= NEEH 2z HulA (CHol: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
03 At2ZH] 5,400 5,400 0
OLolAZae| Al Z28 23|
600,000 *9IH 2 5,400
& 1,080
Al 4,320
301 LEBNEF 1,800 1,800 0
= 360
Al 1,440
11 HALAHIXIEZ 1,800 1,800 0
OLolHZ2eAtY T2 08 XL 2+Al|
200,000 *Q0H 2~ 1,800
& 360
Al 1,440
307 QI2tol ™ 5,800 10,000 24,200
& 1,160
Al 4,640
01 22 & 35| 5,800 10,000 A4,200
Lol 2z &z 5,800,000 * 14! 5,800
= 1,160
Al 4,640
S2XY =0 AASA 453,381 432,583 20,798
& 10,000
Al 443,381
A=z MHIA HB 246,626 233,270 13,356
F2& HALsX 2l 141,360 151,560 A 10,200
201 LEr2 | 135,360 129,560 5,800
01 At 22|l 84,960 84,960 0
Oget=2| 7,000
oMDISENSE
1,000,000 14 1,000
oSt HOEF 200,000 * 128 2,400
oHAIREIZE S 300,000& =123 3,600
Ozel=g9d] 77,960
oA H==D & HIO 2X=
50,0002 =6CH*12& 3,600
oFHA 2| RAE=
180,000 12& 2,160
oHAL HI| otM 22| 29|
200,000& =123 2,400
o FAL £013H| 4|
250,000& 123 3,000
oFHA HAES S22 2HH|
65,000,000& * 14! 65,000
o2 AMHIIZ2 HMeldl
150,000& * 12& 1,800




AR P24 SH  BARED
Hal: 22X F0l AYSZ
o9l BAYRHHIA HIB (el mg)
Al = % ol (& = dMEE =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS
EEEET 50,400 44,600 5,800
OZZR2 2 AAl 38,600
o®I|2 2,800, 0002122 33,600
oMBtaER 160,00021+ 122 1,800
SRS A 50, 00024 +4CH+23] 400
oXNSxt BEE 700, 00024 #4CH 2,800
OAEZY| LI 5,000
oA U BAF HE S|
5,000,00021*14] 5,000
Oxtes et 6,800
X RE 100, 00021 *4CH+ 1224 4,800
oXtE FHISN| 500, 00024 #4CH 2,000
401 S Bl L= ThY| 6,000 22,000 216,000
01 A& 6,000 22,000 216,000
A IR SHH U T
6,000,000+ 14] 6,000
oIZAHIA HIB 97,466 73,910 23,556
101 Q1244 0,456 0 3,456
VBIENEES=T=E 3,456 0 3,456
OWDH 2 &HolDt T2 M JI2HH B4 3,456
oJl=a 101,60024%124x2302! 23,368
oFFaY 01,6002 %124 x4624 4,674
SR IENLY
01,6002 1241124 1,118
SAEE ARY R
29, 160,002+ 1. 3% 3,206
201 Zer2t] 18,490 18,490
01 AlR 22l 15,800 15,800
Ogsr2g) 15,000
o EADSE(LHD, B2, X D)
100, 00021465 600
COIANSY L Y4 R
7,00024+3002 2,100
oDIRA I 75,0002+ 122 900
ooIZMHIA KT HHIY YR
300, 00021 +2CH+ 122 7,200
SOIZMHIA HZ BHADE 7Y
00,0002+ 1224 1,200
ool2MHIA EEE 7Y U M
1,000,002 141 1,000
CSSHYM 2Y ADE Y
2,000,0002114] 2,000
om=t| 800
oEANT PIM= 80,0002%10% 800
2 ST 2,600 2,690 0




T PN SN BAHFIL
Ha: ==X X0 AYST
SH9l: BAABMHHIA HIB (el mg)
Al = % ol (& = dMEE =
R RA B OFI(SIH) - IRAY - BES ofl & e HDS
OAEZHIR ] 2,600
oD D2 R 80,0002 <3(H 240
oty MEFH| 2K 60,0002 *4CH 240
oX I WERH 2K 40,0002 x4CH 160
SBAHIEH| RX| 600, 0002 <2CH 1,200
SHARH KX 90,0002 <5 450
cSSHYA Tl KX
100, 0002 *4CH 400
307 BI2H0IH 40,520 40,420 100
EEEIEET] 40,520 40,420 100
OolZH| 40,520
oRODI= REHLAY 22 L IR
20,0002+ 102] 1,200
CUBHE %E L 228
300,0002! 128 3,600
CBYNT AE Y ADE
200,000 1228 2,400
CIPUYTANAS £2F U I|XHH
450,0002!* 122 5,400
SAAAISY & ADE
800,000 12 9,600
SOISHE S ABKY 4E U ADE
540,0002! 432 1,620
SUAHY Y AT NS
15002140002 6.000
CERUAN B A2 Bl
1,30024+5,00021 6.500
o22I0I2 ALFRIO| 2Y UE L 42
= 29 350,002 1228 4,200
405 XparE St 6,000 15,000 £9,000
BEIEEEET 6.000 16,000 £9,000
Rl BDIg QX 7
600,00024 10CH 6,000
20 2 HHIA 2] 7,800 7,800 0
202 01t 7,800 7,800
ENTT] 7.800 7,800
O AHIA HB 2 AFTZH]
20,0002 *10%+303! 6.000
OB3s2A SZO|
20,0002 324x303] 1,800
BYAY S HH 7S 56,000 48,800 7,200
= 10,000
Al 46,000
S22 Health Care et AteS 31,000 23,800 7,200
201 Ler2 | 25,200 16,000 9,200
01 AR 22l 11,700 4,500 7,200




A= 224 2N BAHI D
FH: 52X9F R0 HLSA
ol BlAY AZHA A= EER=E)
A3 2A - BY . O9(SH) - HRAE - BES Ofl & A DS
Oz T2 S8 2 E22 ME
3,500,000 14 3,500
Oz T2 ADE U AIREE Y
1,000,000 *14! 1,000
Oge =& 1 Atz
600,000 x1CH*12& 7,200
03 A2 I 13,500 11,500 2,000
O T2 2 2AsY
150,000 *83| * 102 12,000
Oz T2 THE4]
150,000& 102! 1,500
202 0441 1,000 1,000
01 =W OdHI 1,000 1,000
Oz T2 2% oyl
20,0002 +2 253 1,000
301 LPBNS 2,800 3,800 21,000
11 HAFRHIXI A2 2,000 3,000 A1,000
Oz T2 HH A 244
200,000 *10& 2,000
14 JIEt2 43 800 800 0
Oz T2 =0 A AcHXIZHI
800,000& * 14! 800
307 2I2+01A 2,000 3,000 21,000
01 22 ¥ 3=l 2,000 3,000 21,000
O=5232 Health Care Al 2242 E
200,000&*10& 2,000
LS OI2 BHED| M (F2XT) 12,500 12,500 0
= 5,000
Al 7,500
201 LEr2 | 8,500 8,500 0
= 3,000
Al 5,500
01 AtR2elt] 6,000 6,000 0
OANY =22 N 5,000,000 » 14! 5,000
= 2,500
Al 2,500
OZJI2d HHl ¢ s&3xH
1,000,000 *14] 1,000
& 500
Al 500
03 SAt2GH] 2,500 2,500 0
Oz T8 o 2| SAHAIHIZFEI
2,500,000 *14] 2,500
301 LPENSZ 4,000 4,000 0
& 2,000




A= 2AHA SN SAMF D
I S2XH F0 ALSA
S HAAY SIZHH RE (CH9: &S1)
A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely OE:IEF% Hlns
Al 2,000
11 #AFMHIXIR S 4,000 4,000 0
O3Flo ¥ T2 AT SAH|
4,000,000 *1A! 4,000
[ 2,000
Al 2,000
2AE OIS BHED| AFY (A=) 12,500 12,500 0
[ 5,000
Al 7,500
201 Lete | 8,500 8,500 0
[ 3,000
Al 5,500
01 Al22t2|H] 6,000 6,000 0
OMNY BEE HZ 5,000,000+ 14! 5,000
(= 2,500
Al 2,500
O2J|2 &Yl & 8F3XH S
1,000,000 14! 1,000
< 500
Al 500
03 SHAL2HH| 2,500 2,500 0
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Al 64
03 A2 33,000 37,730 24,730
OXIOHext g 23 33,000
oXIOHUE WAl 2AMI(AIHIZED)
100,000 #1503 15,000
oQIXI 23 WA ZAHI(AIHIZ=DH)
100,000 %1803 18,000
202 04| 4,000 5,000 1,000
2l 3,200
< 160
Al 640
01 2o 4,000 5,000 21,000
OXIf2elAtE =808l & w=0H]
40,0002 *10Z* 102 4,000
2l 3,200
< 160
Al 640
301 LEIEES 33,740 33,400 24,660
2l 4,592
< 230
Al 28,918
11 SAIAHIXIR S 5,740 6,500 AT60
OXIHeEA S5 2l 1,440
oXIHHAHIE DIEIHH OIS 2tAl ¢
120,000 * 122 1,440
2l 1,152
< 58
Al 230
OXIHExt g 23 4,300
oXI0NEX EE 2 2tAl]
160,000 * 122 1,920
2 1,536
< 7
Al 307
oQIX|AY ZZ ) 2HAlY]
5,000& 20 x 102 1,000
7 800
= 40
Al 160




A AL SN AISE
M AHATAl A2 235t
s XI0HoIE & 2t EER=E)
Al = XNZH . Ct2l (S (=] 2 OH E‘“.—jE =2
AZ . 2A - BB S(3) - MSEAY - BAYS (PN il tor ClImE=FT
oOfZz e A 282
5,000/ *180H 900
2l 720
[ 36
Al 144
o2d%dz 3o 24 MS
8,000 x15%H*43] 480
Jl 384
[ 19
Al 7
14 IIEt2 83 28,000 31,900 23,900
OXI0f =JIZ&E 28,000
S HHOAL =L (AIHIFI}
350,000 x2Z 103 +43] 28,000
307 2Ito1H 189,000 294,800 105,800
0122 & 3= 189,000 294,800 105,800
OXIof =013 9,000
oXIOH 28 ZIAHI(AIHIZDH
90,0003 x50 *23] 9,000
OxIf S5 22l 180,000
oXIOHEX KM2Z XI&(ABIFI)
15,000,000 * 122 180,000
SSA =R SS=H X2 AL 5,057 975 4,082
2l 4,045
& 506
Al 506
201 LEer2 | 7 775 2698
pJ 61
< 8
Al 8
01 AtR2t2l] 7 775 2698
OFHAAMY 2ZH(ASHIE S)
77,0002 %14 7
) 61
< 8
Al 8
301 LEIEE S 4,800 200 4,600
2l 3,840
< 480
Al 480
14 JIE2 4= 4,800 200 4,600
O=AQl &=t 200,000 2+ 122 4,800
) 3,840
< 480




a3 BAL A AESE
M AHLTA S 235
=2l XI0HoIEY & 2t EEED
Al = % o|(5 = dEe =
A .24 B O(B1H) - MIRAR - BES Ofl e il tor HRE2
Al 480
307 @120l & 180 0 180
2l 144
< 18
Al 18
6 23 180 0 180
O=deol doll2Eg= 60,0003 +3 180
Il 144
[ 18
Al 18
XIOHXIZE 22l X2 (HEAre) 231,000 226,000 5,000
< 138,600
Al 92,400
308 XXM E0IH 231,000 226,000 5,000
< 138,600
Al 92,400
183 SV 2SS & AET AL 231,000 226,000 5,000
OXIOHxlZ 22"l X
231,000,000 *14] 231,000
[ 138,600
Al 92,400
HAUSE 43t 2,733,748 2,194,439 539,309
= 235,260
2l 797,980
< 255,133
Al 1,445,375
BAAASKIME KA 76,650 76,650 0
2l 33,325
< 7,665
Al 30,660
307 gI2to1 & 76,650 76,650 0
2l 33,325
< 7,665
Al 30,660
05 QIZtRIEr S 76,650 76,650 0
OFAMAL=XNME XA
76,650,000 %14 76,650
7l 33,325
e 7,665
Al 30,660
AU =RNEE QIHES 926,864 711,740 215,124
Il 463,432
[ 92,686




Eelr ZAALSE 24 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
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307 2I2t01 926,864 711,740 215,124
) 463,432
< 92,686
Al 370,746
05 212t =S 926,864 711,740 215,124
OFAAZ=XIHE el2id] K&
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< 77,360
Al 309,440
ORIIPHYE 21Abl X
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< 15,326
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< 32,100
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Jl 160,500
[ 32,100
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OSsduALSIAMY XI&H
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2l 45,818
[ 9,164
Al 36,654
307 2Ito1H 91,636 91,636 0
pJ 45,818
< 9,164
Al 36,654
05 2IR”IRIE = 91,636 91,636 0
OXtaie & SAALSE A
91,636,000 » 14 91,636
pJ 45,818
< 9,164
Al 36,654
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S 7,631
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307 212t01& 76,310 74,072 2,238
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S 7,631
Al 30,524
05 2IR”IAES 76,310 74,072 2,238
OXH G A el
38, 155,000& x2H 76,310
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= 7,631
Al 30,524
o 7F FASAMEIA X 103,500 100,000 3,500
Il 51,780
= 10,350
Al 41,400
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Jl 51,750
== 10,350
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OXktet K5 FASAHIA X
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Jl 51,750
== 10,350
Al 41,400
20l X M= 123,300 91,880 31,420
S 24,660
Al 98,640
307 212+01& 123,300 91,880 31,420
= 24,660
Al 98,640
05 gzt = 123,300 91,880 31,420
OXtarolgy &
123,300,000 *14] 123,300
= 24,660
Al 98,640
HEXIZO0l Atell2tel 29,500 29,603 A103
S 8,850
Al 20,650
307 212+01& 29,500 29,603 A103
S 8,850
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NS TIPS SN AYBAD

Hu: SN (AYBED)

ool ol CEEE)
A E . ‘=’}¢| X ZH . C}_?.l(ilj:") . }d|‘=’}\|-g cHAE 0;||¢|-OH ST HlDLEDI-
S=cTA-SRe s T <=5 - Ol &2 ==

ol 150,842
= %, 168
Al 402,230
101 Q1248 304,404 444,939 A120,53
| 150,842
= %, 168
Al 143,304
RECEIEPF TS EE=P 304,404 444,939 A120,53

OZSE22X 2I21H| 34,404
oolzz 2,544,8102+7 % 122 213,765
| 106,882
= 21,377
Al 85,506
S-ERNS 2,704,81021 %72 % 100% 18,934
| 9,467
= 1,893
Al 7.574

cOIIRBEINTY
123,84021+724 163 13,871
| 6,93
= 1,387
Al 5,548

oAIRIRI%E

23, 2202147 +6AI 2t 108 9,753
p 4,877
= 975
Al 3,901
LRS! 60,0002 +7% 1224 13,440
p 6,720
= 1,34
Al 5,376
ST AZA| 140,00021+7% 1224 11,760
| 5,880
= 1,176
Al 4,704
oDERXY| 140,00021+7% 1224 11,760
| 5,880
= 1,176
Al 4,704
XSG 20,0002 +7% 122 1,680
| 840
= 168
Al 672
ootELY 6,720




A AL A HLSEL
M AHAMPHAH(HLSEL)
&2l I 2| (EEEE))
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
- BH Xt 40,0003 +7E+12& 3,360
2 1,680
< 336
Al 1,344
= 20,0002 +7F#23|« 122 3,360
2 1,680
< 336
Al 1,344
o HEZIHI(AIBIFI})
2,704,810 +7F«120% 22,721
WM H=RE=S 258,838 87,552 171,286
4 SRE(RIAHY) 22X BEEHEREE S 258,838 87,552 171,286
O—.‘ﬂ@%‘j%‘g(/\lﬁl—rjf)
3,861,920 x7H*122+6. 5% 21,087
O=ALEEHRZ S (AIHIFI)
3,861,920 x7H* 122 +3.545% 11,501
OFIIQALHFES(AIHIFI
11,501, 0002 *12.95% 1,490
OLEEERLZ(AIHIFIN)
3,861,920 x7H* 122 x1.8% 5,840
O EE RS (AIHIFIN)
3,861,920 +7H 122 0. b 2,920
OEIAZH(AIHIFI)
3,600, 0002 *20\ = x2H % 150% 216,000
KNEARI S SHXNIAMHIA BRE 1A 473,026 259,765 213,261
2l 105,658
[ 21,132
Al 346,236
101 Q14| 227,045 217,054 9,991
7 105,658
= 21,132
Al 100,255
03 BRA(RIH L) 22U E > 227,045 217,054 9,991
O3Rz2Z Xt 2124d| 227,045
S == 2,502,560 «5F « 122 150, 154
) 75,077
[ 15,015
Al 60,062
od2sd 1,246,500 «5 & 2 12,465
) 6,232
= 1,247
Al 4,986
SAUPNES =) Sty
120,420 5%« 18 10,838
) 5,419




A= BHA A 0 AL SE
S HY2IAH|(AHLSE
oel: el 2dH| (SH &)
M. RA B O9I(S) - ALY - BAS ol &t Bl HIDS2
= 1,084
Al 4,335
oAlIZtRIE
22, 7035 *4A1 2128 5,460
J| 2,730
= 546
Al 2,184
cRIAHPSE 160,000 x5 » 12 9,600
J| 4,800
= 960
Al 3,840
o Mg A 140,000 x5 * 123 8,400
J| 4,200
= 840
Al 3,360
cuwsSE x| 140,000 x5 * 12 8,400
J| 4,200
= 840
Al 3,360
=JiERY 6,000,000 *14] 6,000
J| 3,000
= 600
Al 2,400
oHASIHI(AHIZFI})
1,572,800 x5 2 & 15,728
34 AsRE3S 245,981 42,711 203,270
M SRAE(RINHS) 22X BE28E2 S 245,981 42,711 203,270
O=0AZELZ2(AIBIFE
227,044,000 6. 5% 14,758
O=LALEEHE LS (AIBIFO)
227,044,000 *3.545% 8,049
OIIQYBEIHS(AIBIFI)
8,049,000 *12.95% 1,043
ONEBEHELZ(AIBIFI
227,044,000 *1.8% 4,087
OAHEE 22 (AHIFEDL
227,044,000& +0. b 2,044
OEIEZ 0 (AIHIFI})
3,600,000 *20'F 2 *150% 216,000
XIOHotAldIY 28 328 old| 250,037 315,548 65,511
| 200,030
= 10,002
Al 40,005
101 el H| 220,600 269,820 A49,220
J| 176,480




ro (¢ Hr
J¥ 03 1Y
HO FHo b
oy
=
N
o
B
\_—'.__I

02 08

=

2 RA - ZE - SIS - HRAY - BAS A
< 8,824
Al 35,296
(RI1AH) 22X+ 220,600 269,820
220,600
2,500,000 x5« 122 150,000
Il 120,000
& 6,000
Al 24,000
160,000 x5 * 12 9,600
Il 7,680
< 384
Al 1,536
o N S22 140,000 x5 * 122 8,400
Il 6,720
< 336
Al 1,344
HAGA 140,000 x5 * 12 8,400
Il 6,720
== 336
Al 1,344
500,000& =128 6,000
Il 4,800
[ 240
Al 960
oHIRERII
160,000& x5+ 156 12,000
Il 9,600
< 480
Al 1,920
1,100,000 x5 »23] 11,000
Il 8,800
< 440
Al 1,760
1,520,000 «5H x23] 15,200
Il 12,160
== 608
Al 2,432
29,437
Il 23,550
[ 1,178
Al 4,709
= IH) 22X BEERHE2 S 29,437
= 220,600,000 +6. 5% 14,339




A= 224 SN AISE
M HZYRAZH(AZSI 1)
el QIEE2E (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
) 11,471
< 574
Al 2,294
O=RALEEHRES
220,600,000& *3.545% 7,821
2l 6,257
< 313
Al 1,251
OFINQLEEHRES
7,821,0002*12.81% 1,002
2l 802
< 40
Al 160
Ons=ZE!gs 220,600,000 *1.8% 3,971
) 3,177
< 159
Al 635
OUNEERES 220,600,000& *1.044% 2,304
) 1,843
== R
Al 369
dEALCIAE SFH 22| 109,900 112,723 N2,823
z 42,208
< 8,442
Al 59,250
101 1A 97,856 9%5,720 2,136
= 42,208
< 8,442
Al 47,206
03 SRH(PINAHA) 222+ 97,856 95,720 2,136
OJlEs 2,600,000 2128 62,400
= 31,200
< 6,240
Al 24,960
od2=+¢ 2,600,000& x2& 5,200
z 2,600
= 520
Al 2,080
Ouxtr=&t=¢
130,0002x2F »20! 5,200
z 2,600
= 520
Al 2,080
OAlIZt2I =& 24,0002 =2« 123 576




A AL A HLSEL
M AHAMPHAH(HLSEL)
&2l I 2| (EEEE))
A = £ of (5 = dEE =
AR 2A BB B9I(S0) - HBAY - BaS ol &t aes DS
= 288
< 58
Al 230
ORlggeg 160,000&x2H«12& 3,840
= 1,920
< 384
Al 1,536
OZAUSAHI 140,000 x2& ~ 122 3,360
= 1,680
< 336
Al 1,344
(@INESENL 140,000&x2Z« 123 3,360
= 1,680
< 336
Al 1,344
QIR 20,000 2« 128 480
= 240
< 43
Al 192
OB (AIHIFI)
40,000 x2&x 122 960
OYZEEIII(AIBIFI
3,120,000 x2H 23| 12,480
M H=RE=S 12,044 17,003 24,959
4 SRE(RIAHY) 22X BEEHEREE S 12,044 17,003 N4,959
O—.‘ﬂ@:.—‘?—%‘%(/\lﬁl—’.‘—?f)
3,800,000 x2H 122 +6. 5% 5,928
O=ALEEHRZ S (AIHIFI)
3,800,000 2 * 122 +3.545% 3,234
OFIIQAEHLES(AIHIFI
3,234,000 *12.95% 419
OLEEERLZ(AIHIFIN)
3,800,000 x2H 122 x1.8% 1,642
O EE LS (AIHIFIN)
3,800,000 x2H « 122 *0. % 821
It (LTl X)) SRE Q1AY| 51,505 55,319 13,814
7 5,000
= 1,000
Al 45,505
101 Q124H| 45,482 46,675 1,193
2l 5,000
< 1,000
Al 39,482
03 SRA(RIAH) 22X 45,482 46,675 A1,193
O3RZ2Z Xt 2124d| 45,482




A2 BAA A HASE
M SHASHAH|(HUSED)
CHel: Q29| (S &)
o - of [ = o dEE =
A .24 - ZE .. AHA(FH) - HEAY - BHES 0ff &k2H Ol &bt Hln=2
ol|lez 2,500,000« 142 10,000
I 5,000
[= 1,000
Al 4,000
oJ|22(AHIFI)
2,450,300« 1«82 19,603
o™ ALY (ABIFI}
1,200,0002* 1 %23 2,400
o XRB SIS (AIHIZFI})
119,920 x 1« 18 2,159
o A2t (AIBIZI})
22,4902 x 1 *4A| 2+ 128 1,080
o DIAAR G (AIHIZI})
160,000 12 x 122 1,920
o HOMIAIH|(AIHIZEI})
140,000 x 1« 128 1,680
oS BXY|(ABIZEI})
140,000 x 1+ 12& 1,680
o X &= =Y (ABIFI})
20,0002 1 * 122 240
o IELSY(AHIZI
60,000 1 x 122 720
o HAES I (AIHIZEI})
2,000,000« 1 %23 4,000
34 HIREH2ES 6,023 8,644 A2,621
M4 2RI (RIHA) 22} EEHBRH2 S 6,023 8,644 A2,621
O=g1H3 ‘:'%*%(}\IHH‘—J})
3,800,000 * 1+ 1224 +6. 5% 2,964
O20IHASSHBEZ(AIHIFD)
3,800,000 12« 122 %3 545% 1,617
O QABEHLS 2 (A=)
1,617,00024%12.95% 210
OnNEIEBYS(AHIZIL)
3,800,000 * 1+ 1224 %1 . 8% 821
OLTHEBE RS2 (AIHIFEI})
3,800,000« 1122 x0. % 411
PAUEHAIY Z2XE Q12| 54,89 55,005 A113
7| 2,400
[= 1,200
Al 51,292
101 @124H| 48,869 44,391 4,478
] 2,400
[= 1,200
Al 45,269
03 BRI (IH) 2224 48,869 44,391 4,478
OZ2RX22 L} IAH| 48,869
ol|lez 2,400,000 1 x22 4,800




S A ALSE
HY2HZH(HALSEI)
olt2 o]
- o q LS
224 G9(SA) - HRAY - BSES e
2,400
= 1,200
1,200
oJ|22(AHIF)
2,751, 7602 x1Hx 102 27,518
o& 2L (AIHIFI
2,911, 7603198 2,912
ocAXR= /IS (AIHIFI)
132,560 *1H x20 2,652
o AlZ2tRl=EH(AIHIFIt)
24,8603 x1H+bAI 2t 123 1,492
o QIRAAR S (AIHIFI})
160,000& x1H* 123 1,920
oM HZAHI(AIHIZIH)
140,000 x1H + 122 1,680
o WEEXH|(ABIFI
140,000& *1E x 122 1,680
o JE=Y(AIHIFI
40,0002 * 18+ 12& 480
o Xt s=EH(AIHIFIH
20,0003« 1« 128 240
o HAZIHI(AIBIFI})
2,911, 7603 1H *120% 3,49
N HASREES 6,023
04 SR (RIIHL) 22X BEHERES S 6,023
O=0AZIEL S (AIHIFIN)
3,800,000& *1H* 122 +6. 5% 2,964
O=DIALBEHRE S (AIBIFI)
3,800,000 1H =12 x3.545% 1,617
O QLYBEIEZ(ALIFI
1,617,000 *12.95% 210
ONEEERYS(AIHIFIN)
3,800,000& *1H* 122 *1.8% 821
OMNBE RS2 (AIBIFEI
3,800,000 1B+ 122 0. % 411
[2Zdl 40,760
J|123&H| 40,760
201 L2 | 27,020
01 Ar2eltl 18,720
OHIANRES 7 500,000 & *43] 2,000
OHFAH Xtz 500,000& 123 6,000
OJl=ess A
9,000 *30H 33| 12& 9,720
OJIEt Bh==2H] 1,000,000 * 14 1,000
02 324l 8,300
OZ232=2 & HAl 7,300
oY H 450%1+9,000AH 4,050




a3 BAL A S
M AHAMPHAH(HLSEL)
&l D122 (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
osJ|fH 2,500 1,300 3,250
OAIE EHIS Xl 1,000,000 %14 1,000
202 04| 7,200 7,200
01 2ol 7,200 7,200
OJI2g ==& 0tl
80,000 *45 % +23] 7,200
203 ¥R=4| 6,540 6,600 260
04 RA2LHRFEH 6,540 6,600 260
ORAMz2ggR=a 545,000+ 122 6,540




H & 0l & AHS B Ml A

od
i’
oF
uJ

MHIA HIS

& e} L8383 < il SRS B1<8 S
S 3 N|o| == B |5 ol | S
- [®) » o] o0} o0}
i S 3
E=]
N 3 3128|183 S 3|8 SRR 3188 8
~ - S| |w|a ~ ole |33 B3| S
Euﬁm & ST . —T |88 NMEIE: %
ol s o
I<l
RIS
S BxId BBz B 208 2I¢¢ 8 8g¢8 28|18 8|88 8 8 8313|8188 88 8 8
I~ N~ IO — N[~ &~ 5 © N|N|O|MN~NW o S © N | O|© O |MHm|m (@) o O VLI O|M[IMm ™ o O (@) o
sEESEEEaEE|ERSs 5 - || lee ° & “SlglEen €2 s 7
Zr oo} mw — < |o ol o
<
=3
MR W= MR W<
W@ B = 2 @ W B KD T =
o PR 2 X o X X
R o i XX X F U LT
0 ) 0 0H od 0d 0H
R 5 98 g g S 5 58 g 8 s 8
U WG 5 4 . 2 2.5 = A=
° 0]
@ s 8° S| §| & g ®°F 5.9 48 B
< g « “ @ nJ o
w it ERR X i
: 2oy S & 23
— ™3 3 K = <
= = ol — O A0 & = <
5 T - 5 i S 4
ol a = = z ) 4% a x|® o S
oF ~ ol Ok L _ ok _ AR ) = R
ol i W o o el |2y X3 g R =0
. Rl_|_ I _ k| |% =] |u E Zl_|oma _ Y9 =
o Bmlsls Y & =% |slacljsd & 3 BElzlz®Hd zE 3
ﬁ or|gm & o _ 80X x_x_uloxl_m_xu_ 0 E ale 2B 4 4 %Am ﬂw
RO g |B|F D 4 Doyl KK S (S D Mo & oy 80 X
. oMok W ®W WU ok g B R B R X @y R fM X
Wik |[=|= oy o | o ~ | — == al
s 50 o = |87 = o Ll 4|8 =
L E 2 0| <!
el = &
4l Bt
) Rl
Rl




AR BAL SN EEHYD
Ho: Do)
o9l EZMHIA HIB (el mg)
A2 2N - BB O9(E) - HISAY - BES il v A HlDE2
OZAATY RAI2%
1,000, 00024 4CH 4,000
202 it 4,400 5,600 A1,200
ETETT 4,400 5,600 A1,200
OFBEN 2ot
20,0002 +82427 53] 4,400
301 YLrEFI 500 500
UBIEERE 500 500
Ot 2= WSH 24
00,0002 %5% 500
307 212H01 108,850 %, 100 9,750
NEEEIEET] 108,850 %,500 13,350
OZAIAIS @ A2Z7Y
1,000, 000244755 75,000
OYaHel A 300,0002! 122 3,600
OYARZIEH A ZAID
1,00021%250% 250
OYARY 29 24t 22 Bs|
1,25021+24, 00021 30,000
S22 L MBS 29 3,600 3,600 0
201 2er2 | 2,600 2,600
01 AfR 22l 600 600
OS2IXEL 29 423
600,00024 141 600
2 ZT2H| 2,000 2,000 0
O22UXBA Bl X
100, 00024 10CH 1,000
OMgSsA ZHl RX
100, 00024 10CH 1,000
307 212H01 1,000 1,000
NEEEIEET] 1,000 1,000
O22UXE %45 S 100, 00024+ 105 1,000
ey 2ol 2 (jSYst 498,821 449,08 49,788
= 17,755
| 289,238
= 45,368
Al 146,460
2 oz el 50,79 57,020 £6,224
201 2er2 | 18,320 23,020 £4,700
01 Al 22l 17,120 20,320 23,200
oYY 222 MH
1,000247,00004 7,000
OB PRI MY YR
660, 00021 1CH+ 122 7,920




NS LIPS SN BB
HE: oY
ool 2oy 22l Y (HSs (49 52)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
OMI| M S 29 428
2,200,000 %14] 2,200
2 T2 1,200 1,200 0
OzYy VST IR L FAN24
| 00,0002 1CH+ 1224 1,200
307 212H01 14,100 14,800 ATO0
NEEEIEET 14,100 14,800 AT00
0222 TEH| 14,100
CUAHET} LA 228 S
500, 0002145 2,000
oTHMET} LT L W2y
4,50021%50% 122 2,700
oAU WD UE U ARE
10, 00021450+ 122 6,000
SHMMLES oY £2F
2,000,00021%14] 2,000
SIIME 2| 1,400,00021%14] 1,400
308 XHXISHAISOI R 18,376 16,500 1,876
07 RXISH RS2 18,376 16,500 1,876
OBt 2AA L FIR
18,376, 00024 14! 18,376
20t Za 2l 112, 146 108,504 8,642
| 56,073
= 7,330
Al 48,743
101 21218 38,846 35,000 3,846
| 19,423
Al 19,423
VBIEDEES=T=PS 38,846 35,000 3,846
OJIZH2ZT S 24
38,846, 00021 %14 38,846
| 19,423
Al 19,423
201 Yer2gy| 4,000 4,100 A100
| 2,000
= 400
Al 1,600
01 Al 22l 4,000 4,100 A100
OE2H L ALEE 2|
4,000,002 14! 4,000
| 2,000
= 400
Al 1,600
202 01t 2,000 2,400 2400
| 1,000




of
i’
oF
uJ

S 8 8 S S S S 3
s > X ] el © o S
aq < < < 3 % s |8 |3
KIo
E
E=)
8 S 8 B 8 8 |8 |[°
A A A © o IR
o o o 3 3 8 |3
Wi3r
<
RIS
552 588535985 55F820c2§25888 5008 552388588 8
S - - = §8oglggedo Yo - Fg<v9l33FFsE I
ar
<
S
H = ~H = AUH= AW = AUH= SRS SRS ~uH=| & =
o T T < < 80
or 3 * 1y Y T ©
) kA il o o o O il
(aN]
Bl = m m m 80 m m
: 3 8 g 3 g &
ol > - S < ol - s
= V] B < (<5}
< & - o
I+ * u
= m _ ¥ o
. T m ok =
\|} e ar b= a
= 5 0 = u % K
) = R Hr & =
o o m ) 7D uio 0 K
¥ £ B i i H A oo
. ok 0 L ~ 0 =) = LT
= - o - ol .ﬁ = OF A0 |_.m._ = .
) 5 < &l 0 M0 ) — or R A S o z 20
RO s A T i 80 > ok 3r il o E A R E A
: = ¥ e B 3 R L] i B B R
X o < o o ol N N LN} @ o 0
I 5 © 5 s © s 5 © © O ~ s |y ©
. e2] ™ n ™
1N ol
<




A= 224 SA 2S00
I 2o
Chelr 2y 2l & tHES2st EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S HlmE2t
| | 194,060
HAAHNE B S83)| 2 R 0sd= 8,441 8,441 0
S 1,688
Al 6,753
307 212t01& 8,441 8,441 0
[ 1,688
Al 6,753
0122 & 3= 8,441 8,441 0
OFAAE 28, 58I|EE 0lsLT
23,0003 367 8,441
= 1,688
Al 6,753
et Zs 2)|eA HA 13,658 11,340 2,318
S 8,1%
Al 5,463
307 212t01& 13,658 11,340 2,318
[ 8,19
Al 5,463
0122 & 3= 13,658 11,340 2,318
Ot Zs xo|¢A
4,060 *3,364H 13,658
== 8,19%
Al 5,463
ZeHEt dE & 2K 1,000 2,680 1,680
S 200
Al 800
307 212t01 & 1,000 1,000 0
[ 200
Al 800
0122 & 3= 1,000 1,000 0
OZdetl S Hl +
1,000,000 *14] 1,000
== 200
Al 800
KIXFMI Z S &S ALK R 14,000 19,468 NDb,468
= 7,000
== 1,400
Al 5,600
307 2I2t01 14,000 19,468 5,468
= 7,000
< 1,400
Al 5,600
0122 2 /=4 14,000 19,468 NDb,468




A AL A 2GS
I 2o
Chelr 2y 2l & tHES2st EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
O FEi A & A
14,000,000& * 14 14,000
= 7,000
[ 1,400
Al 5,600
OIoIx & 4 A 15,010 15,010 0
| 7,505
Al 7,505
201 er23y| 2,000 2,000 0
Jl 1,000
Al 1,000
01 AtR2t2l] 2,000 2,000 0
OHIV 2180l &g S 2LIHFRE QA A2
% EES 2,000,000 %14 2,000
2l 1,000
Al 1,000
307 2Itold 13,010 13,010 0
2l 6,505
Al 6,505
0122 & 3= 13,010 13,010 0
OHIV ZIEkAICF 10K 2,040,000 14! 2,040
Jl 1,020
Al 1,020
OH0 288 28 € 1=
10,970,000 » 14 10,970
7 5,485
Al 5,485
HIV & AlDS &l=H| XI& 60,000 60,000 0
Jl 30,000
[ 15,000
Al 15,000
307 2Ito1d 60,000 60,000 0
Il 30,000
< 15,000
Al 15,000
0122 & 3=l 60,000 60,000 0
OHIV & AIDS &tXt Zl=H| I
60,000,000& » 14 60,000
pJ 30,000
< 15,000
Al 15,000
St SHX 22| XA 21,510 15,834 5,676
= 10,755
< 10,755




o
il
oF
U

5 ©
" - ol|lo
n0 L wm < S
Ko N 5] S
= - 3 3 z
5 . 2[5[3
<o) 3 0 |0
- A <]d
3|3 =
_._._mmrﬂ . O[w|w o
o< <
RIS 8 % % -
g g|<|€
A-v —
(=)
2 8 B2 o
o N R[b 2 8
=S Sle 2 88lg/8g 8|8gs8
i e e sloels SN © 218 8
= — Yol i¥e) - ) D D | N w m m
al G| = N33 3| S333/885%
= m,m,,l,&po,o,o,poﬂmm N 2 ©
253|588 E 88
© o d ER
™
nu
H o
5 — = =
or m% - < ~ WH =< . _
X0 ol = _ ~ W= — W=
2 8 50 a4
5 S 50 -
* J|_ - — _ —
ol 8 T JW shaa g S
=< o P % N . 0
. ol o m B X B0 x Ql Q
I+ ) S 2 = m g 80 & N * Q
=z - < olz oJ v X X = o) x
o E 30 = e o ® W B m )
—~ = OB ol _ m m m 20 ] %
H = = o o ok 2 - S o
= B oH R0 0] . %, = mw x 3 S
= L = 0K E] 5 =] =
oF m = . oo |0 _ 5 8 5
ol = o o = | H ] R0 S}
. 5 Ao A o ® - =
[ fo 2r ol 00 ok or 00 ar
o R T 5 =l o 4 o
" o o ak = = = 10 . H RI ao iof
. J 2 2 - D [um) D K Y] _.__o H_|o N s =
%z | o] D i = B0 o B0 - ) U = 50 30 n
© =z B bls|s 8 | 3 O a1 R 0
ot |s SN K o = o 5 x4 oy M
3 =0 S| |x Y W oo o - L oo M o oz
o A < nlale O |F N O 0 | — |1 3 m <F = [
i <|° T ° L Wlg|= M T T -
30| N — w0 0 =K | 2R T e <J |
< ~0 1] o ™ O 0 " D_ = o = ] 0 =
20 N S 0|5l= o Kb & K !
< K0 mojo_oooo o o~
RD _ 2|3 O 0 Ko
50 2|~ O
=




Al H2HA A Z2EMEL
B w0
Rl fgES 2 gy 2l (Gt H2)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
S w <= = Ol &b =2
oxFaY 101,600 *1H =462 4,674
cHxReErY 101,600 x1H» 11 1,118
oxIW2RE
19,0503 12 *4 A1 2++10L 762
cNBARE 243
31,700,000&*2. 7% 856
o ZUEH 0 100,0002* 1 +6& 600
201 et 16,480 12,400 4,080
01 At 2telt] 15,480 11,400 4,080
OuLES eHHE &
4002 6,300F*45 10,080
Ongasa S80| dxz(Ed)
250,000& 10+ 1228 3,000
OMRES 7Y 200,000 123 2,400
02 Z324l 1,000 1,000 0
OngEE4 ZHl=XH|
500,000& +2CH 1,000
307 2I2+0l™ 363,150 103,975 259,175
01 22 ¥ 3=l 363,150 103,975 259,175
OugESs 3| 288,150
oZxY 1,500,000 *3H 4,500
oBE 2+ 7,000& 1,400 9,800
oTdap(CIZH2I0F, TMHaHE, sHsh)
23,0002 +2,600H 59,800
oTd(CIZHl2I0F, MAE)
13,0002 900X 11,700
oWR(EZ, 2840lIctdY, EX)
14,0002 x150H 2,100
oXF 15,000& x150H 2,250
oQIZERATH(SZ)
12,000&+3,000& 36,000
oHA X 81,000&*2,000 162,000
OfIE2I0|2 HEES A& 70,000
oOIERATH(S2)
20,0002 *1,5004 30,000
oHA X 20,0003 *2,000 40,000
OlLES ATARE
5,000 =1,000JH 5,000
=t g B &Al 3,093,708 3,081,176 12,532
| 1,546,854
& 525,931
Al 1,020,923
307 QI2Hol A 3,093,708 3,081,176 12,532
| 1,546,854
L= 525,931




A= BHA FA O 2E0Y
3o ZEody
Rl fgES 2 gy 2l (Gt H2)
Al = X o|(5 = dMEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S HlmE2t
Al 1,020,923
0192 « 3=l 3,093,708 3,081,176 12,532
OO0{2l0l KBS Balhl & 2AZ0[2 Al
] 1,263,516,000& *14] 1,263,516
Il 631,758
& 214,798
Al 416,960
OB0MHE~12H O2l0] IS ST} BAalH] &
Q22 Altd] 229,254,000 x 14| 229,254
Il 114,627
< 38,973
Al 75,654
O134l O1gl0l(S1) IS FAXL Al & 2
SI[2 AldtH] 27,622,000 % 14| 27,622
2l 13,811
= 4,6%
Al 9,115
OYAlF QISIUT HLES Ayl & 2
SI[2 Al 10,584,000 % 14| 10,584
2l 5,292
= 1,799
Al 3,493
OO02al QIS T BAIHl & 2|2T[2k Al
sl 1,368,984,0002 *14] 1,368,984
2l 684,492
= 232,721
Al 451,765
Ool24l HEa MalHl & 2E012 Al
a] 137,428,000 «14 137,428
Il 68,714
< 23,363
Al 45,351
Odol NAEZ(HEIFEL)
4,068,000 14| 4,058
Il 2,029
< 690
Al 1,339
Odel NASZ(MSSZEEE)
12,830,000 * 14} 12,830
Il 6,415
< 2,181
Al 4,234
OBHZIE A2 GIL A
3,728,000 14 3,728
Il 1,864
< 634




A= 224 FA O 2E0Y
3o ZEody
Rl fgES 2 gy 2l (Gt H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 1,230
OHPV OIS ES 36,704
oHV 11Xt BSAI A Q2SI |2 Al
2 2272 Al
2,704,000 14 2,704
2l 1,352
= 460
Al 892
oHPV DIESAH 2iz2tejg 0|2t shaly] & 2
SI12t Al 33,000,000 14} 33,000
Il 16,500
= 5,610
Al 10,890
DZLHLES Al 2,266,798 648,526 1,618,272
2l 1,133,399
= 385,3%6
Al 748,043
307 2Izto & 2,266,798 648,526 1,618,272
Il 1,133,399
< 385,3%6
Al 748,043
012z & 2= 2,266,798 648,526 1,618,272
OR2ZUHNEES 2,266,798
CIDZLHOMILES Haly]
1,788,564,000& *14] 1,788,564
2l 894,282
= 304,056
Al 590,226
cIDZLHOUMILES 2/2J12 Al
478,234,000 x14] 478,234
Il 239,117
= 81,300
Al 157,817
HYES SSHH =23l 1,300 1,300 0
201 Ler2aY| 100 100
01 At 2teltl 100 100
O2B2% 221 E2us|
100,000+ 1 100
202 Ot 1,200 1,200
01 2oL 1,200 1,200
O3RA 22X &0
20,0002 18 +52|« 122 1,200
SEXN YALSAIY 22 390,526 374,385 16,141
(O elal] 59,654 58,569 1,085




od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

Ofl &F2H

- SHRAZA) - HRANY - BES

=L

- 24

1,085
168,956
169,356

A400

14,600
14,600
500

500
A6,300
26,300

58,569
12,716
4,916
7,800
115,400
18,700
18,700
25,200
16,800
16,800

115,400

59,654
59,654
46,464
9,293
1,549
1,548
800
181,672
174,272
2,400
1,872
1,000
7,400
6,000
5,400
600
1,400
600

800
130,000
130,000
115,000
10,000
5,000
19,200
19,200
7,700
2,000
9,500
25,200
10,500
10,500

169,000

3

5

=l
=1

5

k=l

57,305,600 2. 7%
100,000 +4 & *2
2,400,000& 14
1,000,000 *14
180,000& *305
100,000& +6
600,000 +1CH
100,000 »1CH+8
115,000,000& * 14!
)
10,000, 000& x 14!
5,000,000 * 14
700,000 *11CH
2,000,000 *1CH
950,000 = 10CH

12,0003 x13CH+ 123

s

96,8003 4«2 %2
e

96,8003 *4H+60 +2
96,8003 x4 #1222
2,166,6602 *6IHE 1300 2

Hl Rl

]

b

b
F

= 2RI 7Y

(= ON]s |
o YA =]

04 JIZtN22 X sSE+
01 At22t2lt]

OAIZ2 &l |XId|
01 M= HI

O
O

206 =4I
405 Xt




of
i’
oF
uJ

-

KIO

Hlw

6,300
6,300

219,707

217,520

MEE
Ofl &k2h

8,400

8,400

4,800
4,800
4,800

943,478

259,950

Ofl &F2H

4,200
6,300
14,700
14,700
14,700
4,800
4,800
4,800

4,800

1,163,185

2,543
291,449
869,193

J|

Iy

Al

2,543
81,360

477,470
393,567

Il

A

- SHRAZA) - HRANY - BES

- 24

=L

200,000 %2100 2
300,000 *2190 2
700,000 #2100 2~

ol |4

3

AHAIHIX

1"

R0
30
W

=]
ar
0
o
Kio
RD
0

3]

20,0003 62 %40

01 2L AL

202 04|

11
n0

<l

T
1t
ol
[0
Mo

ok

7l
of

ol

70
K
R0
o
&r

ol
i0J
KJ
oJ

A 1,980
A180
A 180

43,220
21,120
17,220
3,900
3,200
3,200

41,240
20,940
17,040
1,000
300
6,000
2,000
7,200
540
3,900
700
1,200
2,000
3,200
3,200

Al

o
TT

45,0003 * 128
700,000 *1CH

1,0002%1,000%
300, 0002 %141
3,0002!2,0004
5,0002! #4004

600, 00021 1CH+ 1224
100,00024+1CH 102
2,000,000} 14!

x
IZIISR HASIAIAE

S
&

t

i
st}

01 AFS2t2ltl
OHZE =]
K= ==H|

01 SLH0I

202 044l




A BAA A 2GS
M oot & 332F MHlA HEt
Chel: OFMSH ojotEhd =4 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
O & S=04t]
20,0003 x4 »403] 3,200
301 LEENS 17,100 17,100
11 SARHIXES 1,100 1,100
O2IefHHl 22l G4
300,000& 23] 600
O2AZIIZAIE, DIAFHUXER SAH|
125,000 43 500
14 IIEt2d3 16,000 16,000 0
O2r=2g grliel MlEa=s
400,000 *14] 400
O2AZIIIZAIY, DIAFRHUXER 2SH|
50,0003 102 » 12 6,000
OzAnA2ds & ALY E3txd &S
af 800,000 * 122 9,600
FIPDIE NE2e 12,000 12,000 0
301 LEEEZ 4,000 4,000
02 MR 2HASFS(HAAS, XLHE) 4,000 4,000
OFIPDISA 2=dl N&H
4,000,000& 14! 4,000
307 2IZto1 ™ 8,000 8,000
02 LB AANHEE 8,000 8,000
OAtgel &oDis2s NI
8,000, 0002 *100% 8,000
SsXXUs & 2HA o2 S A X 43,140 38,140 5,000
201 er23| 16,300 16,300 0
01 At2teltl 1,500 1,500 0
OdlAd=s 222 M&
1,000 +1,0007H 1,000
OdHAM= AIRES 28
500,000& *14] 500
03 A2 I 14,800 14,800 0
Ot HAM=NS S#AI2SY|
1,000,000 *14! 1,000
Ot HAM=NE A
370,000 « 12 *302 11,100
OtHAM=NE EX AsH
90,0002 x1&+303] 2,700
301 LEIE NS 840 840
11 BARHIXES 840 840
OdHAM= WS FIHAL 2HAH
28,0002 #3023 840
307 2I2t01 20,000 20,000
0122 & 3= 2,000 2,000
Ot HAM=ME WA JINM & A2F 2
& 2,000,000 %14 2,000




od
i’
oF
uJ

<4 A o)
ol K
H o &)

W &

oF
0

< RO Tl

818 S S S S S S
S|S ® ! 2! S S S
m_o < d < < < <
E
E=)
S ISHRS] S o] S S S S S 38 S
S S|e S ) ) © © © S S S
S e - - - ~ ~ ~ S S S
LH 3T S S &
uiied
RIS
S8 818|8 w%%W%%W%%%%w S B3 INS B IISB IS S 83388 888 8|8 S8 8 8
(@) OO O OO0 MO WO M O|IGY & I O 0w O —| M ~—~ —]1» — — ™ N — —] O O OO O O|Oo o O O
ar
<
=
s = s = = = s = = = = S H = H = H =
m = rd = 0 o
o — — — al
L x x m*a oua oua v
0 i o] )
) 5 = g s 5 :
? . A OJT
ol g g %mw 3 m g
< = = 8
I+ 30 S
=z 0H
- ]
= < LG
ol
iof g )
E 5 M s B 5
&l ur . T o= ur )
&0 N n A i R )
. ] o o B 0o 2 )
X = = MATWO =3 ol
I+ E = 5 g 5
1 r
A




A= 224 FA O 2E0Y
M oorate] & 5322 MHIA H3t
©el: otdst ootetd &Y (Gt H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
S deais S8 A2 316,800 0 316,800
< 63,360
Al 253,440
307 2IZtol& 316,800 0 316,800
< 63,360
Al 253,440
02 QI B AL ER 316,800 0 316,800
Ogsded Jegads Sz JIs R
W 4,400,000 6+ 12002 316,800
=S 63,360
Al 253,440
3328 AMHIA 29X 685,715 683,528 2,187
< 210,089
Al 475,626
231 gl= g4 29 641,965 639,778 2,187
& 192,589
Al 449,376
308 XXM SOl 641,965 639,778 2,187
= 192,589
Al 449,376
13 SII2ASH US4 HAS ALY 641,965 639,778 2,187
O=ESk gle g4 2g(2rgel 2l2i])
641,965,000 * 14| 641,965
< 192,589
Al 449,376
2Aog=X SEAHA 2= 43,750 43,750 0
= 17,500
Al 26,250
308 AXIHMSOIH 43,750 43,750 0
= 17,500
Al 26,250
13 SII2ASH US4 HAS ALY 43,750 43,750 0
O=2AoZ2=X SEXNEMA 75
43,750,000 % 14| 43,750
5 17,500
Al 26,250
dY2SIY(ZE0L ) 253,413 138,075 115,338
Il 33,547
Al 219,866
il 206,223 98,335 107,888
Il 33,547
Al 172,676
HBEESSEHH 83 375 224l 101,948 48,150 53,798
2l 14,124




od
i’
oF
uJ

<4 OH 0K
RO Al
H %0 3)

W & o
A RO T

xR X 2|3 o & o N N 3 =)
& & < &Y 3 = = 3 @
20 N N 5 5 3 3 B
Klo
El
B
R xR A ) 3 3 3] &Q & 3 =]
! & N | ] - = - = S &N
< < N - - 3 L L «© —
e
uiked
KIS
|©O© S AN |©O < < Q AN Al [aN] [aN} [aN] 0w o ol (5] [N e)]
JIRYBIR T8 FIEIg g8 s £ gIRY¥YE888S €888 SI8EBI8 £8¢
5 ¥ ol €58 =gy 8- — g —- plgeF|eeeqgly e —lgaglg - -
ar
<
S
| /= == == ~= = ] = =
T T T T T T T T
o W Y W X % W X W
A ol Gl ol G W o ol G ol
| g g 8 Sw 8 8 g ~8 w8
< = — ~
: 8 8 8 gmar § S i 8 m 8
oD Ioe) N N = 00— — o 0 — ul N
o+ ~ — K- = —
=L = L <F <F w0 0
B3 <k KF ~ o 60 — <F jod -,
; T S ¢z WG R 5 M o Ho
= R = D m = & o] K= = R oo
_m__lw W 5 = =< w O Mm T D M ﬁ FI_ Mz
o m oz = o H MUy = (& mo X m g
F or ol ol m_m " mw o = % mu or or or or i
uJ = K = |uo o o= g = B T "R
c ~ W o|mlm® we oW o oo oo N
& oo W o|mle® T & &7 oo ¥l oo
R0 - rrRM Rr o |DF KM T ORM rrORM R n - RrORM Rr IF RrRM
. 3 o O o |mo|m OF & oF o oOF oF |f ] ob oF o o o OF
ngd 3) Ho MO M |® (& Hofr MO [0 MO Mo | R o) fo HO A0 |3 fo Ho
. = 8| > = - s
1 i
kU




of
i’
oF
uJ

<4 OH 0K
RO Al
H %0 3)

W & o
A RO T

SEEE 2 =T°
- N N N S
Klo
E
E=)
SBEE : e
99%3, a il
WE | @ 2 = N
il
RIS
S 29 2
§55 832 ZIBBIEIE 8 88 83 S 82BS8EEI8E 8
< ™ 77ya > O N y’s,:;y88 e6)
¥ 5|98 1) o< o — S ol © d© ® oSS <
al
<
S
~ =< ~ =
r T T oW T W GV
. - - - 7 L ax @ & N o o
o 0d o Yox o4 x x X 88 % <
0 XX wm oy y 2 S S x x
3| 8 g 5 : 8 8% § g £ g
s = & RINIEEE -
< 1 D )
= M 3 s~ B o 7 ?
I | % = Td S o
< a0 0 KF g4
- o il m |1} A
= |m = 2 X R
o m._ ol no ol ol FAE —
g |m 0 T = A 0 T _ I ERE]
F |0 E 0 woow = o D = Tl |RK
cﬁ .;TM ﬂ oo EHRAHT _ 3 = 3 ok ___uA_w___uAﬁ
a i L u sz @ & W < mg_xm_m_ﬂ%mmﬁ%
2 = i I S|m 0 % O D p O m M0 ok o U0 R|R)|Z0 B
I 0 o BweE = o o9 DAL D e
- | A0 A0 _13%a a Bx A L O R L
T (O O 5 B8 8 B8 33 ®Fooyomny
20 = | =
_,_”_. w_qoatmo & mmo
)|~
A ~




